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PART A
Section Id : 181520150

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 40

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 181520186
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 1815209817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following beliefs about language is incorrect?
23253 HBOODS 80 85O DO 55)?

Options :

Bilingualism causes confusion and language delay in children.
& 52TaT 0 OO HOSERE0 HOOM 27 e300 EORN0E.

1. %
Learning a second language later in life is more difficult than learning it as a child.
DOYBS0T FEIFSH0 S0 SHared 8DS0T BOssd 2@ B IESS0
5 rer §50.
People who speak multiple languages have a higher intelligence level.
2eT0% 2PN STEFT S580e0 0HE AN o EON Goir.
3. %
The grammar of a language is fixed and unchanging.
230 DB0EY 2830 VBT £0EN0A B STE .
4.v

Question Number : 2 Question Id : 1815209818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements about language is true?
2P HBO0DS B0 DELSHS DO Deso?
Options :
All languages have a written form.

- )] 205 (o8 EF0 GO0 d.



Language and dialect are the same thing.
27 SDBASY S0t Eo 2.5%).

2. %
Language is purely a means of communication.
27 PO £0ms AN AreS0.
3. %
Language reflects cultural values and worldview.
27 AP0 8E DEVIED DO NN HYaE T 130N,
4.V

Question Number : 3 Question Id : 1815209819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following notic:-n? about language is incorrect?
23 HOODN 808 2FIND DO 8 3?
Options :

Language determines the way we think and perceive the world.
S0 ETIT® VTR, SO N0, (HaroT TR 2 dFonNod.

1. %
Speaking multiple languages leads to a loss of cultural identity.
2T 2PN STEPEEI0 AP0 938 DB S eod.
2.¢
There is a "correct” or "proper" way to speak a language.
27 STEFTOCNED "OBS" B "OB" 3P0 G0d.
3. %
Language evolves and changes over time.
2o SPETPADIMEIOTT aIDETN0 DOLVEOE NOAW S0,
4. %

Question Number : 4 Question Id : 1815209820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true?
806 73S DO AB0?

Options :



The more languages a person knows, the easier it is for them to learn additional
languages.

2,5 35588 DB0)I 23en Ben, @5 2rNerd B N%0 08 exdso.
1.

All languages have the same grammatical structure.
@) raen 3 ariden Aorerd) 00 Goérow.

2. %
Language is primarily a product of individual creativity and invention.
23 @Y DGO 3280165 Hpesrored §es DO esNNLB) c5edh &,
3. %
Regional accents and dialects are considered incorrect forms of speech.
BPOSOD HITeN HOAN SPoSOTen |1HDN0oN0 TINE) SN SrarenT
20fedodaacierown.
4. %

Question Number : 5 Question Id : 1815209821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following beliefs is incorrect?
808 SIS DO $59)?

Options :

Men and women use language in the same way.
DAV DO e TeV 2,3 DO 2D GHOIENT .

1. %
Language is a static system that never changes.
25 RE DD)E38 SPGB VETIS 9555.
2.¢
Proficiency in a language is determined solely by vocabulary size.
205 B0 A D0 DBSTEIO T ST° S7(550 DTN 0TIV,
3. %
Language is influenced by social and cultural factors.
2P fSTP2E SDOED AP0 )8 ST (12T 500,
4. %

Question Number : 6 Question Id : 1815209822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Match the following countries with their official languages:
800 BTN a°¢3 9508 2rIO& HOF JOd:

1. Germany a) German
238528 2305200
2. China b) Mandarin
oo® P00
3. Mexico c) Portuguese
&HE P HHR
4. Brazil d) Spanish
BBS UATATSY
Options :
1a 2b 3c 4d
1. %

1b 2a 3c 4d
2. %

1a2d 3c 4b

1a 2b 3d 4c¢
4. v

Question Number : 7 Question Id : 1815209823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following countries with their official languages:
806 BTN °¢3 oHOE A HOF YOd:

1. United States - a) English, French, Indigenous languages
ANBBE W) - 200, (20S, BIADH 2ren
2. Bangladesh b) Bengali
20T Bomred
3. Canada - c) English
@ - ETolg S\
4. Sri Lanka d) Sinhala
F0% ROTYO
Options :
1a 2b 3c 4d

1. &



1b 2a 3c 4d

1c 2b 3a 4d

1a 2b 3d 4c

Question Number : 8 Question Id : 1815209824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If "pragmatics” is to "language use," then "morphology” is to:
"800 OENTPI0" @R "R 0NOIO" 0N, "N {ETF0" 90T:

Options :
Word order
20 |50
1. %
Word formation
oG ATE0
2.
Sentence meaning
850 @00
3. %
Speech sounds
e300 d23en
4. %

Question Number : 9 Question Id : 1815209825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following language families includes languages such as Spanish, French, and
Italian?

806 25%F N0 FINRA, (RO OGN BEFOOCHS S0E3 237D Gwr) ON?

Options :

Sino-Tibetan

- 2S-3BOS



Indo-European

Q08-078 HAHS
2.

Afro-Asiatic
3| -0 e3s

3. %

Austro-Asiatic

@3 &f-a05re3S
4. %

Question Number : 10 Question Id : 1815209826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a classification of languages based on their historical development and
shared features?

8060 e3¢5 DO ¢3 TOIHE 08590 HOCN 2RI OF TS SEOT 2
SO88e?

Options :

Language families
270 Suenoaren

1. ¢
Dialects
0 Osen
2. %
Registers
03P
3. %
Language isolates
250 B
4. %

Question Number : 11 Question Id : 1815209827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following language families includes languages such as Mandarin Chinese,
Cantonese, and Wu?

808 27T H0EN02FOS SPOR0S BOR, SOSTAD HOAW oF 503 aFNeD Gar) 0N?
Options :

Sino-Tibetan
DS -3BOS

Indo-European
208-0508 DAHS

2. %
Uralic
cinord)§
3. %
Afro-Asiatic
4 x @SEF-D005re3S

Question Number : 12 Question Id : 1815209828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

If Braggart: Modesty, then
)T D) IS0 D) e eh, €96 )¢

Options :
Fledgling: Experience
DA of: 025550
1.+ ERe
Embezzler: Greed
SATTCITTCR0: T E
2. %
Wallflower: Timidity
TS RS0: 208es50

3. %



Invalid: Malady
DO: Soerdd

Question Number : 13 Question Id : 1815209829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If Clumsy: Botch, then
DEHeh R 2D, €95)) )¢
Options :

Wicked: Insinuate
T B0e: B0

1. %

Strict: Pamper

IOTNVIN VIV TSN PR VI
2. %

Wilful: Heed

D08 0! A0 TH0B
3. %

Lazy: Shirk

&F00: by
4.

Question Number : 14 Question Id : 1815209830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If Humdrum: Bore, then
5DH: 5°5, @050

Options :

Grim: Amuse
1e: DS



Mutritious: Sicken
TP RSEFES0: @0

Stodgy: Excite
FNOGSN0: GT)TO

Heartrending: Move

THCION DHON: SO0
4.

Question Number : 15 Question Id : 1815209831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following languages with the scripts in which they are written:
806 2O @) (TN (R o KOS Jo&:

List1: List 2:
1. Arabic a) Cyrillic
e 2)8 Aaldl]
2 Chinese (Mandarin) b) Devanagari
TAD (IT0HS) ANl
3. Hindi c) Arabic script
rod 588 OD
4, Russian d) Chinese characters
S5A8D TN i oren
Options :
1a 2b 3c 4d
1. %
1c 2d 3b 4a
2.
3 5% 1c2b3add
1a 2b 3d 4c¢
4. %

Question Number : 16 Question Id : 1815209832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Match the following languages with the scripts in which they are written:
806 2RO @) TR (RO SOFO 08!

List1: List 2:
1. Japanese a) Hangeul
220D SonS
2 Greek b) Hebrew script
e a2 O
3. Korean c) Greek alphabet
Yoo W) AT 5Qa5red
4. Hebrew d) Kanji, Hiragana, Katakana
o220 %028, arOiree, §&sr
Options :
1d 2c 3a 4b
1b 2a 3c 4d
2. %
1c 2b 3a 4d
3. %
1a 2b 3d 4c¢
4. %

Question Number : 17 Question Id : 1815209833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following terms with their definitions:
806 DDOHION °¢3 DS shTred HOFO)0d:

List1: List 2:
1. Phonetics a) The study of word structure and formation
ENIENTALRY 26 AT®2E0 DO AT*EIOR @GN0
2. Syntax b) The study of speech sounds
VOErsS) 100000 F2°) @ 0NS0
3. Pragmatics ¢) The study of sentence structure
L)y OET IR0 8§ WTP2E0 6 a0
4. Morphology d) The study of language use in context
CIDT® L0 QOT® DGO 7% O I0) @00

Options :



1b 2c 3d 4a

LY
1b 2a 3¢ 4d

2. %

s 4 1c2b3a4d
1a 2b 3d 4c

4. %

Question Number : 18 Question Id : 1815209834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following language-related terms with their descriptions:
808 270 H00HE V20NN a°¢3 DIGEaerId HBFJOG:

List 1 List 2
1.  Accent a) The study of language variation based on social factors
o YO TPedr’228 @07 @GO %L JaGIF0 @00
2. Dialect b) A particular form of a language associated with a specific
region or social group
Sroesdso QO 050 BT Tl Qodrrod
NDOAOVDAD 27 gy A Erdo
3.  Register c) A specific way of speaking associated with a particular
situation or context
5205 2.8 DO HOVE B DOGEI0S €9:020H0IDGN
STerd A0x Srdo
4. Sociolinguistics d) A distinctive pronunciation pattern of a language
a3 23 V0 2,8 277 Q308 O 00 ST O eI
Options :
1b 2c 3d 4a
1. %
1d 2b 3c 4a
1c 2b 3a 4d
3. %
1a 2b 3d 4c
4. %

Question Number : 19 Question Id : 1815209835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Match the following terms with their definitions:
806 D20AION a°¢3 Y susrrerdd HOsFeO 0B

List 1 List 2
T; Semantics a) The study of meaning in language
50838 @S @930 €9t a0
2. Discourse b) The study of sound patterns in language
GO0 2R €95 0T 965500
3. Orthography c) Extended verbal communication beyond the level of
a single sentence
e300 2.8 %50 TTONE 0D DVBOAD THE Hoerae
- Phonology d) The conventional spelling system of a language
e’ 2,8 270 GBEY) DoTEaD D0l DR
Options :
1b 2c 3a 4d
1. %
1d 2b 3c 4a
2. %
- 1a2c 3d 4b
1a 2b 3d 4c¢
4. %

Question Number : 20 Question Id : 1815209836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following terms with their definitions:
20H AD0GIOM a°¢3 AE DTS HOF O

List 1 List 2

1. Bilingualism a) The process of learning and using multiple languages
nltArvviale 2070 20 BH5 NS0 HdHA

=relovviilelnleTe]

2. Language acquisition b) The process of gaining language skills as a child
AR AN W L TN D5 5506 2T BYEF LD 0T (HIEAD

3. Code-switching c) The ability to understand and interpret speech sounds
§&-05000 130000 €3 5e0eeD @980 TNHS SOk efo

TeRH® P00
4. Speech perception d) Shifting between languages or language varieties within a

conversation
IS HBINS H0eEASY e B el S5°e D¢ STBB0



Options :

1b 2c 3a 4d
1. %

1a 2b 3c 4d
2. %

1a2d 3c 4b
3. %

, v 1a2b3ddc

Question Number : 21 Question Id : 1815209837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following authors with the language in which they wrote/have been writing:
806 STI00BSON ) [TFRNTND) FAS DOFO 08!

List 1 List 2
1. William Shakespeare a) Russian
NOOH0 a8 HohE S5
2. Leo Tolstoy b) Spanish
OAF e oD PR
3. Gabriel Garcia Marquez c) English
TS MO0 5B 525 z00%
4, Franz Kafka d) German
[ar02s %) 2360
Options :
1c 2a 3c 4d
1. %
- 1c 2a 3b 4d
1c 2d 3a 4b
3. %
1c 2b 3d 4a
4. %

Question Number : 22 Question Id : 1815209838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following authors with the language in which they wrote:
80& Shonderc o TP aaed adsFe jodk:

List 1 List 2
1. Jane Austen a) Japanese
BS e 25D
5 Haruki Murakami b) French
s308 0G5 RleIn)
3. Victor Hugo c) Spanish
NEO oo’ SRS
4. Jorge Luis Borges d) English
23°0 eron® 500 2005
Options :
1d 2c 3c 4a
1. %
1d 2b 3c 4a
2. %
; 1d 2a 3c 4b
1d 2a 3b 4c
4.v

Question Number : 23 Question Id : 1815209839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following authors with the language in which they wrote/have been writing:
0B BTS00 ) (STRNTNN]) 2TAS DO 0!

List 1 List 2

1 Fyodor Dostoevsky a) Russian
888 SFDIL SEA5S

2, Chinua Achebe b) Norwegian
DT T 0 80D

3. Henrik Ibsen c) Spanish
20705 @E)w VABAT

4. Gabriel Garcia Marquez d) English
RSO TOICIT SI°0) 825 2005

Options :
1b 2d 3a 4c



1b 2d 3c 4a

2. %

1a 2d 3b 4c
3.

1a 2d 3b 4c
4. %

Question Number : 24 Question Id : 1815209840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following authors with the language in which they wrote/have been writing:
806 ST500HID TH [SFRSTND) 2 DO 0R:

List 1 List 2
T Miguel de Cervantes a) Bengali
DS & DS L0TD Bomd
2 Rabindranath Tagore b) French
SDoISTH THrD 0D
3. Gustave Flaubert c) Spanish
DS JBC CUREASY
- Ernest Hemingway d) English
0D TEVONS 2005
Options :
1c 2a 3b 4d
1.
1b 2a 3c 4d
2. %
1c 2a 3b 4d
1a 2d 3b 4c
4. %

Question Number : 25 Question Id : 1815209841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0



Match the following books with the language in which they are written:
806 HUTON @ (VD 2rAS DO Jod:

List 1 List 2
1 "Don Quixote" a) Russian
2. "Pride and Prejudice" b) Spanish
3. "War and Peace" c) English
4. "The Divine Comedy" d) ltalian
Options :
1a 2c 3b 4d
1. %
1b 2c 3a 4d
2. %
1c 2a 3b 4d
3. %
1c 2b 3a 4d
4.

Question Number : 26 Question Id : 1815209842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following books with the language in which they are written:
206 HUVTO 9d (PN 2mAd DO JOk:

List1: List 2
1. "Les Miserables" a) Spanish
"B s )" VALY
2. "Crime and Punishment" b) Russian
"FE0 HOAL S SAgd
3. "To Kill a Mockingbird" c) French
"¢ 85 ) Jr8of 20" R eIn)
4. "One Hundred Years of Solitude" d) English

"5Q JTOIBG AoHb) e rderss  woin

Options :

1a 2c 3b 4d
1. %

1b 2c 3a 4d

1b 2a 3d 4c
3.¢



1c 2b 3a 4d

Question Number : 27 Question Id : 1815209843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following books with the language in which they are written:
806 HATOD @) 1T 2P DB Jod:

List 1 List 2
1. " The Odyssey" a) Russian
"& aBn)" B35S
2. "Madame Bovary" b) French
" S50 OB
3. "The Alchemist" c) Greek
NARZTSYRANTNY WEN
4, "Anna Karenina" d) Portuguese
"eorr) 0" NZOVRIATY
Options :
1a 2c 3b 4d
1. %
1c 2b 3d 4a
2.
1b 2a 3d 4c¢
3. %
1c 2b 3a 4d
Sub-Section Number : 2
Sub-Section Id : 181520187
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 1815209844 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (28 to 38)

Question Label : Comprehension



Instruction: Read the following poem and answer the questions:

In the realm of dreams, where imagination soars,
Where words dance and tales are born,

A poet weaves a tapestry of rhymes,

Painting vivid pictures through rhythmic chimes.

Upon the canvas of the poet's mind,
Words blossom like flowers, one of a kind,
Whispering secrets of love and despair,
Capturing moments, both fleeting and rare.

With each verse, a journey unfolds,
Unveiling emotions, stories untold,
From sunlit meadows to moonlit nights,
The poet's pen weaves magical flights.

In sonnets, haikus, or free verse's flow,
The poet's heart spills and starts to glow,
Words become whispers of the soul's essence,
Finding solace in poetic resonance.

- Writer Unknown

Sub questions

Question Number : 28 Question Id : 1815209845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

In the line "Words blossom like flowers, one of a kind," the phrase "one of a kind" is an example
of:
DTN KoY S DEVTOW, .8 SEDID" @ IS0’ "aE SEDS" oo HE
5% OED:

Options :

Adjective phrase
DINED HES0850

Prepositional phrase
Bz Platilelale]

Noun phrase

3 @ T80



Verb phrase
e\ PslntAlelnle)

4. %

Question Number : 29 Question Id : 1815209846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which verb tense is predominantly used in the poem?
565506 &) |18A5T $HE0 [DTTROT EHTBTA0TIDB00?

Options :
Present tense
SO3rd0
1.«
Past tense
(ied 5rer0
2. %

Future tense
2e)caf® T0

Present perfect tense
(2B0E DTS B

Question Number : 30 Question Id : 1815209847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the line "Where words dance and tales are born," which word contains the sound /3:/?
"DTTED 9g)eh50 SHOGKD EHEN JECH HtEron” @ D08, O D0 Iz @ & LA EO
Cs0EN0H?

Options :

1. % dance

words
2.9

tales
3. %



born

Question Number : 31 Question Id : 1815209848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which word has stress on the second syllable?
&) D50 BOCsS e85 B0 2.BAN EOA 0o d?
Options :
poet's

1. %

tapestry

rhythmic
3.

magical
4. %

Question Number : 32 Question Id : 1815209849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the word "resonance” mean in the context of the poem?
D950 TBEY DOBEI0ES "B " ©F ITRE 980 Dde3?

Options :

Harmony of sounds
F2F® 0850

1. %
Deep understanding
B IS
2. %
Emotional response
2 T3 5 (D800
3. %

Echo or reverberation
126365 58 B 1063655
4.4



Question Number : 33 Question Id : 1815209850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the synonym for "unveiling" as used in the poem?
D506 EHT/FA0DS "D HB0" @ HTTRE HT°L0NNE0 JNe3?

Options :

Hiding

L x TPUHC0

Revealing
2o G50
2.

Covering

E5000
3. %

Concealing
Al hTe1e)

Question Number : 34 Question Id : 1815209851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which type of sentence is used in the line "Upon the canvas of the poet's mind"?
"5 NS TR LD W @F H0ES ) SES TEL0 GHTrAONDA0E?

Options :

Interrogative sentence
10703 850

1. %
Imperative sentence
0 J00d o°550

2. %

Declarative sentence

(20505 o550
3.¢¥



Exclamatory sentence
esd yor 08 7850

Question Number : 35 Question Id : 1815209852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the line "With each verse, a journey unfolds," what is the verb form of "unfolds"?
D D0, 2,8 DOTR0 DIH0A" X NS, "V Jod" Ty 186D EFHo
De3?

Options :

Base form
AR oS

Present participle
308 rdind

2. %
Past participle
IR FOVHS
3. %
Third-person singular present
0¢85 0358 DESLIS0
4.«

Question Number : 36 Question Id : 1815209853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which word contains a diphthong?
Q HS0eS Garof &oenod?

Options :
realm
1.

imagination



fales

rhythmic

Question Number : 37 Question Id : 1815209854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the word "solace" mean in the context of the poem?
D550 TBNEY D0EI0S "L ©F D8 90 DTne3?

Options :
Comfort or consolation
2,070 BT LT
1.«

Joy or excitement
33080 B GT5T0

Confusion or distress
HoSSFYo B 20

3. %

Agitation or turmoil
S08¥S B HoSEHFo

Question Number : 38 Question Id : 1815209855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the synonym for "capturing" as used in the poem?
H¢5:065 EIOTBEAODD "DOA0TI0"E HT°LONN0 Dane3?

Options :
Releasing
MleNald)

1. %

Seizing
N I{ATN®

2.9



Ignoring

22000 G0

3. %

Surrendering

S ONESCO
Sub-Section Number : 3
Sub-Section Id : 181520188
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 39 Question Id : 1815209856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many alphabet/s does the English language have?
0] 27 A SPSreren ewr)on?

Options :
26

24

Question Number : 40 Question Id : 1815209857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the correct spelling of the word, which refers to the result or consequence of
something?
HE0 TNE) ABS D)YD0R AeS, 2O AT HOB0 BT HBLITTR), AFDDOE?

L]
Options :

Affect
(80277050



Effect

(202700
2. ¥
Affective
(DTSS0S TS
3. %
Affection
s e
4. %
Section Id :
Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

PART B

181520151
2

Online
Mandatory
43

43

60

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 41 Question Id : 1815209858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a corpus analysis, the frequency of a particular word is found to be significantly higher in
one text compared to others. This suggests that: 5530 D38, 2.5 AR HE0 TwE;
D30 e oe3S FOR 2.8 T5).S HEAHOM JB0)ST G18YN SFI2G08.

2 APDNOB:

Options :

0

1
181520189
Yes

null

The text contains more grammatical errors.
5, DBV, P sESe Saren ear) ow.

The text was written by a non-native speaker.
BE), TS 0)ED 50 (oD RB0H.



The text has a specific thematic focus.

v 51, A0 TBHEHE Gond EOR G0Lnob.

The text is written in a different language.
5, 30 272 |FOHDA06.

Question Number : 42 Question Id : 1815209859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A researcher is analyzing a set of interview transcripts and notices a recurring pattern of
hesitation markers (e.g., "uh," "um," "like"). This finding suggests that: 2. 503 %%
QOOET 2L (EFI(LRE DA NFNT®Y B HOCI HOSTIO HEE TInE),
T35 cINTTD (foDT A (E6T°., "Eoar." "Gad," "Q0"). & @V 5N e
AATIN0E:

Options :

The interviewees are unsure of their responses.
QOAEF 55 QD) 908 0 (D& )0NN HBOD WD JB0MT BOSHN.
1.¢

The interviewer used leading questions.
QOGP L2000 DB (204 50RO T.

2. %

The interviewees have a limited vocabulary.

\ QOLEP 5§ AW, D8 D0 DA2TO0 GOLNOA.
The interviewees are not fluent in the language.
QOAET 55 T,) 08 23 HEY B/ Daledren 5°¢.

4. %

Question Number : 43 Question Id : 1815209860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A discourse analysis of political speeches reveals a frequent use of metaphors related to war
and conflict. This finding suggests that: T>2380% (DH0TPe T3nE) SHTEd D Ao
SBA D005 NODOHO0VN EFHSEA) ST GIOIrROWIEN) IDGHNOA.

&2 @508 FEF AFDNOB:

Options :



The politicians lack creativity in their language use.
T°2380% P ANZIOE) 7O 2T DTS N23red8es Be.

1. %
The politicians are advocating for military intervention.
Tr2380H POHEIED TRE 5D DHONT) &,
2. %
The politicians are appealing to a sense of national unity.
O350 TPOHEED 270D DEL FHO DBV Tewar) .
3.
The politicians are using inflammatory language.
T2380H PohEIeD BITE) 2 archem®) .
4. %

Question Number : 44 Question Id : 1815209861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A researcher conducts a sentiment analysis of customer reviews for a product and finds a high
occurrence of negative sentiment words. However, the overall sentiment of the reviews is

positive. This can be explained by: 2.8 HBF 50D 2.8 6538 T°H0 EQo08 HMWE e T3}
20033065 DN DG TR 2DOA (HEBETE VOEIT0E DT DBV
£500) 80 EDFTOEFD. on®, Do e G3nE) IND0 V0E3TH0E AFNETFOOT S06.
AHAA HA T 50° DSIBOTISTNY:

Options :

Customers expressing mixed feelings about the product.
£565 38 (HOOD MFD 2 $5:8H0T ISR Shew.

Customers using sarcastic language in their reviews.
DATTFHTHED 50 DNE O H:odis HSererd) GHTN0THS0.

Customers being generally dissatisfied with the product.
DTN APGPGLIONT 56538 L) e)0eH YT CeOLT .

Customers trying to be polite in their feedback.
DATFHTEED 70 08)ePaNOS DTS S50 S0ErDE 0D Ve &.



Question Number : 45 Question Id : 1815209862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a study on language variation, a linguist observes that a particular linguistic feature is used
more frequently by younger speakers compared to older speakers. This finding suggests that:

2T B0 B 2.8 €85500506Y, e9:02552TeN T SPEPT 70 FOW
AN SZIEN T STETT 06 2.8 DOR aar O PR SETOMT SOTBTANT Y B 28
2T T Wed (1D0TR. & @R 506 FeF AFDRO0R:

Options :

The linguistic feature is undergoing language change.
2T 8 £90 2% ST IE0 DS B0H.

1.

Younger speakers have better language skills.

03065 38N STEFTED 0NN 27T ST seed O Goert.
2. %

OClder speakers are resistant to language change.

€9002305 S35V STEFTI TN 27 ST B0 DT EA EON S0er.
3. %

The linguistic feature is a marker of social status.
i 2 ©8 €0 raire2¥ wedd (HAM™ Sotnod.

Question Number : 46 Question Id : 1815209863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A researcher analyzes a dataset of online conversations and finds that certain topics
consistently generate longer and more detailed responses compared to others. This indicates
that:

2.8 HBTHEIH ATBS D0 BEF D DINATED HBO DY) evoFen
QSHOE sFO VBT DATTDD DO HOOS DISETeH28 15835105
SPRT ONA EDFar) . 26 SFDRO6:

Options :

The participants are more knowledgeable about those topics.
) 008 &3 0T DBV TS GOV,

The participants are more interested in those topics.

. T RN e @0TO D 0 @S DN Gotrt.
2.



The participants are trying to impress each other.
T BT 2EOTERD sEEPTITRE (HODE) VT .

The participants are avoiding controversial topics.

PSS BN DT ) @0FTE) SrSomT dmr) .
4. %

Question Number : 47 Question Id : 1815209864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A syntactic analysis of a sentence reveals an unusual word order that deviates from the
standard grammatical pattern. This suggests that:

&30 T30E) TELDT 6 DINED (2538 a3 55569 S 0B IEOT eorrden
28 B350 IGO0, AB AR O5:

Options :

The speaker made a grammatical error.
)86 séden BN0 TTX.

The sentence is in a different language.
%20 30 S 08,

The sentence is in a poetic form.
50 EDe BErHoS SoeNod.
3.¢

The sentence is an example of code-switching.
850 §&6-2 5D0N I GraTde.

4. %

Question Number : 48 Question Id : 1815209865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A researcher analyzes a large corpus of academic articles and finds a high frequency of
passive voice constructions. This finding suggests that:

2,8 HOTLIBD 05T EHare TnE) DG 2GRN NI SHOAD D31 0%
TPOND AT°IETE TI0EY 9OF DTN EDF0EF. &2 R 506 QeF ATFDNOH:

Options :



The authors lack proficiency in writing.
STHoNSOH $356Y BYeago BED.

1. %
The authors are deliberately avoiding responsibility.
STI00ehen SHFsI S 80T 20 265 AD0G 52 )0TNBI0ENT) K.
2. %
The field of study requires objectivity and impersonality.
65500 GOS8 Aar)8 &b DA @465:865 50 e5080.
3.¢
The articles contain outdated information.
EHmren ared ddrrora) $OR Goeron.
4. %

Question Number : 49 Question Id : 1815209866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a corpus analysis, the frequency of a particular word is found to be significantly higher in
one text compared to others. This suggests that:

G0 D30T, 2.8 DO HE0 TWEY (DILD) VHHOE FOW 2.8 Sddoey
HEARODOTT DB €65 €D ETBDR0O. A STrDNOO:

Options :

The text contains more grammatical errors.
B85, D80 BB Saren ar) om.

1. %

The text was written by a non-native speaker.
BE)., TRZSS 086 T (STOHVA0E.

The text has a specific thematic focus.
BB, V) BIGDS B9ard) EOA s0enod.
3.

The text is written in a different language.
BE), 30 eI |T0HDA06.



Question Number : 50 Question Id : 1815209867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In phonology, what term is used to describe the study of the minimal units of sound that can
bring about a change in meaning?

Frer2815 5 TR0 &, @G0 S35 100 SBDRTH 5.5 TBNEY DD CHTrRE
€85:00TR), DI00WRTAE &) TR, GITrHTB?

Options :

Phonetics
Foe38)

Phonology
SFareed

FPhoneme
A
3.

Allophone
e rS

4. %

Question Number : 51 Question Id : 1815209868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of an allophone?
806 &3S’ PSS FSH GTTrSe VO?

Options :
Ip/
'k/
IS/
2. %
Ip]
[]



Question Number : 52 Question Id : 1815209869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a phonological process?
80& a°¢365 & 500 |DIBAHEY G 007

Options :
Assimilation
v Handsen
Inflection
= EVRII TN A PALY
2. %
Conjunction
Psfeloviiiate]
3. %
Subordi_nation
SEAOEN AT
4. %

Question Number : 53 Question Id : 1815209870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the primary focus of phonology?
SFrered B30E) 1S Sga DE3?

Options :

The physical properties of speech sounds
[0 4270 277esE 8 eren
1. %

The social and cultural aspects of language use
27 O30 CRVE) frdTre2s JDHOO5W arodd))ess esoF e



The distribution and patterns of speech sounds in a language
23°363 DTS 95000 HONET NBAR TN

The meaning and interpretation of words and sentences

4y  OTED HOOD 757 @G0 HOAM Da3BED

Question Number : 54 Question Id : 1815209871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the difference between a phoneme and an allophone?
SFDD SOOI CIPS EFSE 08 BT De0e3?

Options :
1.v

A phoneme is a distinctive sound in a language, while an allophone is a variant of a phoneme.
A RO 2.5 27N DOEDID $Q, @oN® OIrSSFS @Rd SFFa T30}
draroes Go.

A phoneme is a physical sound, while an allophone is an abstract representation.
DA VO 2THE &5, ONS ASTETES 2.8 DASNE 1TBG 0.

A phoneme is used in writing, while an allophone is used in speech.
TS S S50 P GHTBrA0TIDA0A, [HV0H0ES oiFSarS
003N 0TIDLDEA 0.

A phoneme is universal, while an allophone is language-specific.
DD B IBEDIO, ©0oNS IS 27A-ADR DI,

Question Number : 55 Question Id : 1815209872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a phonological rule?
806 e3’ FSerBES DODITIE &TTSe IO?

Options :



The change of /t/ to [d] when it occurs between two vowels
00 @t )@ DS D0BN0DNaY )0 A DO [d]S S5m0

1.+

The change of /s/ to [2] at the end of a word
550 DSBS’ 18/ 0B [2]8 575

2. %
The addition of -ing to indicate the progressive aspect of a verb
1EOH TBNE), 1HHBID ©0FTR)) ATFDOVFTRE -ing TBnEy G0N
3. %
The use of intonation to convey different sentence types
DV TEs G5O SOODHBONTRVE 4930 GOTITA0TIB0
4. %

Question Number : 56 Question Id : 1815209873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

VWhat does phonemic transcription represent?
TS EPD RS B D0 R?

Options :

The actual sounds produced in speech
0H0S 565305 DS oS FTren

The underlying phonemes in a language
2.8 2706Y @0e88% & s0en

The phonetic details of speech sounds
(2980011 & se0e> TBE) r™e3T DadTren

The pitch and intonation patterns of speech
Loded0ff0 OT0E) 01D BTN D380 Sedrmren

4. %

Question Number : 57 Question Id : 1815209874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is an example of a suprasegmental feature in phonology?
800ae3eS FTrodeS NINVT0LS 58 &I Tde D67
Options :
Voicing

TP 0
1. %

Place of articulation
G068 V0

2. %
Stress
2.8
3.9
Manner of articulation
G )08 DY
4. %

Question Number : 58 Question Id : 1815209875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following terms refers to the smallest meaningful unit in a language?
806 HTOS DO 27ASTR e DS 0TS0 AT ATFDN0H?

Options :

Morpheme
S5 a3
1. ¥
Phoneme
S
2. %
Allophone
@@56@755
3. %
Syllable
el Oo
4. %

Question Number : 59 Question Id : 1815209876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a bound morpheme in English?
808 ¢3S es0H0e 2T°0B SO N8 GTHTSEE IO?

Options :
Cat

Walked
4. %

Question Number : 60 Question Id : 1815209877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the term for the process of combining morphemes to create new words?
§ed DO D0 tITTRE 5570 1O 0 (HIB0HEY N0 Dde3?

Options :

Derivation
£5e5 300 O
1.+

Inflection
KAl

Conjugation
hslelovgTe!

Compounding
ENEAPEANTe)

Question Number : 61 Question Id : 1815209878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of an inflectional morpheme in English?
80O 3 es0foS AT DE IS Sro 108 GIrdn AO?



Note: For this question, discrepancy 1s found in

question/answer. Full Marks is being awarded to all candidates.
Options :

-ad (as in walked)
—ed (SBDSENTT)

-ing (as in walking)

[ing (95 $58)
2.
-5 (as in cats)
s (DS $8)
3.

-er (as in faster)
-er (JIOTP)

Question Number : 62 Question Id : 1815209879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the term for a word that consists of a single morpheme?
2,3 N 58Fard), 00 &) D08 D0 daded?

Options :

Monomorphemic word

S 38 )5 HSO
1.

Polymorphemic word
25308 D0
2. %

Root word
e D0

Derived word
JARTA[eTATN I IATe)



Question Number : 63 Question Id : 1815209880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a derivational morpheme in English?
8068 ¢3S 0105 BOIANS S0 108 &S OO?

Options :

-s (as in cats)
1. %

-er (as in faster)
2.

-ing (as in walking)
3. %

-ed (as in walked)

4. %

Question Number : 64 Question Id : 1815209881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a compound word in English?
808 ¢3¢y es0loeS HIFS0 HTTRE ST de IO?
Options :

Run
1. %

Quick

Doghouse
3.¢

Happily

Question Number : 65 Question Id : 1815209882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the term for a word that is derived from another word by adding a prefix or suffix?
&G B (De5:0900 EB0LI0 7507 SHTE D0 NOA &EIN0DN N8 Ho
e e3?

Options :



Base word
TP 200

1. %
Compound word
N IFD0 D0
2. %
Inflected word
SI8EB0DS HO
3. %
Derived word
&0V 0
4.«

Question Number : 66 Question Id : 1815209883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a prefix in English?
808 57¢3° e300 GHIGH GTTEe DO?

Options :

-s (as in cats)
1. %

-er (as in faster)
2. %

- ' h
™ un- (as in unhappy)

-ed (as in walked)
4. %

Question Number : 67 Question Id : 1815209884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is a sentence?
P20 90T )ale3?
Options :

A group of words with a subject and a predicate
DAONO OO ATIIE RS DT HT%T0
1.



A single word that expresses a complete thought
5570 @558 55585003 2.8 Heso

A group of words that rhyme
PR ) D) IO

A collection of letters arranged in a particular order
BN 1500 @B )BS eiore) DEGR
4. %

Question Number : 68 Question Id : 1815209885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a syntactic category?
808 ¢3S 5T 69 05830 DE?

Options :
Moun
g0
1.+
Red
oj'{j);g)
2. %
HaPEﬁ?’
0B O GO
3. %
Run
es e
4. %

Question Number : 69 Question Id : 1815209886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a constituent in syntax?
FEsT 2006 2.8 a0 Dde3?

Options :



Atype of sentence structure

- 2.8 50N o°8§ AT IO

A part of speech
d0oHoS 2.8 artio

A group of words that function together as a unit

2,8 AOFAE™ D DADT R DT DT
3.9

A specific word order
QA D3 5o

Question Number : 70 Question Id : 1815209887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the subject of a sentence?
&30 TNE) DACHO DE3?

Options :

The action or state described by the verb
1BOD 37 50° DIBOTIDGBD 385 B Ve

1. %

The receiver of the action in a sentence
2.8 5806y 158 ¢ B3E) BrsE

The doer of the action in a sentence
3¢ o5 TS0 IS5 BRI

The word that describes a noun
TNTISR) DIBOT DO

Question Number : 71 Question Id : 1815209888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is a phrase in syntax?
FET 160065 DE5D00 0T DeNe3?

Options :

A single word

2,8 5850
1. %

A group of words that includes a subject and a verb
Daa0DO SBAW 8D DA &) DT QeldT%TO

A group of words that functions as a unit but lacks a subject-verb relationship

2,8 O™ DA B DT DDTT0 520 DA0H0- 80D Ho0d0 S
3.¢

A group of words that forms a complete sentence
I8 SR EFETFOH0T DT HAFT0

Question Number : 72 Question Id : 1815209889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the function of an adverb in a sentence?
0 |BaSr DFNEI0 TINE) DO WEI?
Options :

To modify a verb, adjective, or adverb
180D, DFNE0 B 180T DFN0 HSBoBTENE

1.¢
To indicate the subject of the sentence
550 QIS DAATR) AFDOWERE
2. %
To connect words or phrases
DTN B DADOFTON §RT DA ETRE
3. %

To show possession
2 ON0 BTEHoBETOE



Question Number : 73 Question Id : 1815209890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the role of conjunctions in syntax?
LT 10 HOTITTE oT|eh Daed?

Options :

To express action or state
D6 B 0B HENEHEVE

To connect words, phrases, or clauses

HTTEN, DEIDOTED BT A0S e2eDN0A0 RS
2. ¢

To describe or provide more information about a noun
PN IE0 HOO0D B0 HITTTR) DeIB0ETRE B @0HOETOE

To show the relationship between two sentences
DO P55 SN A0DOHT), P 0TITFE

Question Number : 74 Question Id : 1815209891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the function of a preposition in a sentence?
2,8 506 [DFRAS TBNEL DO AWe3?

Options :

To express action or state
D58 B® V) 55DV

To modify a noun or pronoun
"0 IE0 B DY [7meN0 Dedd0IERE

2.9

To connect words or phrases
DTN BT HADOTON 35 DoHEVE



To show the relationship between two sentences
DO a0 NG E NODOTR) LIF0WEWS

Question Number : 75 Question Id : 1815209892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the role of an object in syntax?
200¢r53 9B TB0Ey PSS D37
Options :

To describe or provide more information about a noun
TP TIE0 (DB0D B0 HATTTER) DeIBOREAE BT @ododERE

1. %
To connect words, phrases, or clauses
DTN, HEIDOTEY BT DO eNN0TROVTEVE
2. %
To show the relationship between two sentences
DO °5750 NG M0DOTW) P0EWE
3. %
To receive the action of a transitive verb
P )E3S 1Ba%H T30EL T80 250008
4.v

Question Number : 76 Question Id : 1815209893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a synonym?
DT 3000 ©OT) ool e3?
Options :

A word that has the opposite meaning of another word
NTE D8 55308 @T°R) EOA ) D0

A word that sounds similar to another word
SHTE D)) O 0B D0



A word that has the same or similar meaning as another word
TE DTVE DATORN B DedrddDe @) 3OR &) 80
3.¢

A word that is spelled the same as another word
SHTE 550 5B )O0R Bohadd B0

Question Number : 77 Question Id : 1815209894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is antonymy?
0320 EN0 @O Dade3?

Options :

A relationship between words that have similar meanings
rdrdg eore EORG DO 8§ o200

1. %
A relationship between words that have opposite meanings
35308 @0 ¥R &) D) DG oo
2.¢
A relationship between words that rhyme
. B BRGNS DT o0 HODOG0
A relationship between words that are spelled the same
253 DGO |TOHDAD DT DS DODOGO
4. %

Question Number : 78 Question Id : 1815209895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a hyponym?
PN 90T aee3?

Options :

A word that has a broader meaning than another word
HEE H0 0B DAYes TN EOR ) NSO

l. %



Aword that has a more specific meaning than another word

Lo SHTE HE50 0T A0 @) O &) Do

A word that has a similar meaning to another word
NTE DTRVE DTN @T°R) 53O0 &) D0

3. %
A word that has a completely unrelated meaning to another word
DT HR8 IO D000 B @0 t5ad) Do

4. %

Question Number : 79 Question Id : 1815209896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the meaning of the word "polysemous"?
PO VNN @0 TR 2900 Dabe3?

Options :

Having a single meaning
2,3 @) O Goke0

Having multiple meanings
270 T §O° G0t
2.

Having opposite meanings
235e308 eoTeD O &0

Having unrelated meanings
DoV0G0 B e@PPersd §OA &okeo

Question Number : 80 Question Id : 1815209897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a homonym?
ATV 0T ool e3?

Options :



A word that has the same spelling but different meanings
2,3 22000 EOA &) DGO, 0 JT K eTrew

1. ¢
A word that sounds similar to another word
SHTE HrQ)), O 0T DO
2. %
A word that has the opposite meaning of another word
DTE HRE 55308 TR O &5 HS0
3. %
A waord that has the same meaning as another word
DTE HTVE DITrdR P00 Gad) D0
4. %
Sub-Section Number : 2
Sub-Section Id : 181520190
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 1815209898 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Question Numbers : (81 to 90)
Question Label : Comprehension



Study the following data from the Zulu language and answer the questions
2370 2% A00E 1800 BeErad e¢)5aDhd0 BOHOG HBOMW |H%) 0% dSrgrdo aSgod.

Singular Noun in Zulu — Meaning in English Plural Noun in Zulu — Meaning in
English

23705 DESSS e arSEo 23700365 225503518 arard¥o

-soliosS’ e@do -esoliosS’ edo

umfazi ‘married woman’ abafazi ‘married women’

umfani ‘boy’ abafani ‘boys’

umazali ‘parent’ abazali ‘parents’

umfundisi ‘teacher’ abhafundisi ‘teachers’

umbazi ‘carver ababazi ‘carvers’

umlimi farmer’ abalimi farmers’

umdlali ‘player’ abadlali ‘players’

umfundi ‘reader’ abafundi ‘readers

The following Zulu verbs are derived from noun stems by adding a verbal suffix.
8o eren (§ahHen 42 (DeBsasrd)) SR0tIR0 7500 hartdifo o0& &4 )NoTTow.

fundisa = ‘to teach’ funda = ‘to read’
HOGT ="'SO0BTVE DO = ISR
'lima = 'to cultivate’ baza = ‘to carve’
O = "DOoNE0! 2 23 = "8I

Sub questions

Question Number : 81 Question Id : 1815209899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct singular noun from the Zulu language.
23703 27 A0 DDA &It DTSR DOTNE0R.

Options :
1.+ umfundisi
) » ababazi

abalimi

4 5 abadlali

Question Number : 82 Question Id : 1815209900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural noun from the Zulu language.
2P0 277 A0 DB 22TV TN TR) DO 0A.



Options :

| % umfundisi
umbaazi

2. %

3 s umlimi
abafundi

4.

Question Number : 83 Question Id : 1815209901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the singular morpheme in Zulu.
270 DESITIN DT DO oA,

Options :

um
1.

abha

fani

zali

Question Number : 84 Question Id : 1815209902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the plural morpheme in Zulu.
22200 ET 25TV STFarR) DoTHE0A.

Options :

| s fani

aba
2.9

3 % zali



limi

Question Number : 85 Question Id : 1815209903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out the Zulu stem to which the plural morpheme is attached with its correct meaning.
22350638365 D 5EFHN0 T ABS @06 BHTaHGN 2ren 00 EnTHod.

Options :

umfazi - Stem: fazi, Meaning: married woman

1. %
umfani - Stem: fani, Meaning: boy
2. %
umazali - Stem: zali, Meaning: parent
3. %
abafazi - Stem: fazi, Meaning: married women
4.9

Question Number : 86 Question Id : 1815209904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find out the Zulu stem to which the singular morpheme is attached with its correct meaning.
DX D287D0 TR DBD @0 BBTODHAD 276D 5F00 B0,

Options :

umfundi - Stem: fundi, Meaning: reader
1.¥

abafani - Stem: fani, Meaning: boys

abazali - Stem: zali, Meaning: parents

abafundisi - Stem: fundisi, Meaning: teachers



Question Number : 87 Question Id : 1815209905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect meaning from the following pairs.
80H 23650 ADOG S5 V) HO0T0A.

Options :

abafani - Stem: fani, Meaning: boys

1. %
abazali - Stem: zali, Meaning: parent
2.¥
abafundisi - Stem: fundisi, Meaning: teachers
3. %
ababazi - Stem: bazi, Meaning: carvers
4. %

Question Number : 88 Question Id : 1815209906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect meaning from the following pairs.
80 2350 NOG ) TR Hlook.

Options :

umbazi - Stem: bazi, Meaning: carver
1. %

umlimi - Stem: limi, Meaning: farmer
2. %

v umdilali - Stem: dlali, Meaning: players

umfundi - Stem: fundi, Meaning: reader
4. %

Question Number : 89 Question Id : 1815209907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0



Identify the correct pair with the meaning using the above given data.
208 BN Berdd SHTEHoD @Pod OB 2365 MHBovod.

1. fundisa a. to carve

2. funda b. to cultivate

3. lima c. to read

4, baza d. to teach
Options :

1-d, 2-¢, 3-b, 4-a
1.v

1-a, 2-b, 3-c, 4-d
1-b, 2-c, 3-d, 4-a

1-c, 2-d, 3-a, 4-b
4. %

Question Number : 90 Question Id : 1815209908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect pair with the meaning using the above given data.
28 BN BEFPD SHTrA0D @Pod SO 2365 HO0D0A.

Options :

fundisa = ‘to learn’

v NOBr ="'V )T

lima = ‘to cultivate’
) % D ="D0H50"

funda = ‘to read’
NOCs = " VDAITVE

3. %

baza = ‘to carve’

22 = D58
4. %
Sub-Section Number : 3
Sub-Section Id : 181520191
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 1815209909 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension

Read and understand the below given ltalian language data with English meanings and
answer the below given questions

AN VS LR REFPOOHS 27T TEFD e30(] 0T O o DTS SHBAD
D DRI FDRN 1004 OBV DITH0 QeI SO,

Italian Verbs - English Meanings Italian Verbs - English Meanings
erOOHS (Sodhen - solf egren 2ErOoH® (Sohew - solf egren

Parlo ‘1 speak ’ parlavo ‘| spoke’

Parli ‘your (sg) speak’ parlavi ‘you (sg) spoke’

Parla ‘he speaks’ parlava ‘he spoke’

Parliamo ‘we speak’ parlavomo ‘we spoke’

Parlate ‘you (pl) speak’ parlavate ‘you (pl) spoke’

Parlano ‘they speak’ parlavono ‘they spoke’

Sub questions

Question Number : 91 Question Id : 1815209910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the root verb?
Surey (8a%) @0 Jabe3?

Options :

1% Par

arl
2.9 P

parla
3. %

parli
4. %



Question Number : 92 Question Id : 1815209911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The past tense suffix for first person singular
S065¢3 6358 &30 € TR BS) D8

Options :

| v avo

avi
avono

avomeo

Question Number : 93 Question Id : 1815209912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the common past tense marker?
SR 2R BI) G0 @0T abe3?

Options :

_avian
1. %

avo

3.9 B

avi

Question Number : 94 Question Id : 1815209913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ‘iamo’ denotes one of the following persons and numbers.

'eo ST 0” 06 S3ednen SHBAN HowEeES 2,58 SrDN0O.
Note: For this question, discrepancy is found in

question/answer. Full Marks 1s being awarded to all candidates.
Options :



First person singular
00¢9¢3 23£8 DESLISO

1.
second person plural
, B0 0358 2257065830
third person singular
3007935 0358 DESTISO
3.
third person plural
007803 6358 25TV STHR0
4.

Question Number : 95 Question Id : 1815209914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The third person plural past word is
S07°¢885 0358 225TVSTIN Hied D50

Options :
parliamo
1. %
parlate
parlavomo
3. %
parlavono
4.
Sub-Section Number : 4
Sub-Section Id : 181520192
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 1815209915 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)

Question Label : Comprehension



Read and understand the below given the Sudan Arabic nouns with their stems and affixes
and answer the questions

180 @3 5RS S 9688 TN TITEOIND 57E3 5200 HOGSD 9D IS IO
@80 TS0 HOCW 04) OB DITETO0 DI 06,

a. ktabi ‘My book’

b. kitabak “Your (m.sg) book
c. kitabik. Your (f.sg) book

d. kitabu. ‘His book’

e. kitaba. ‘Her book’

f kitabna. ‘Our book’

g. kitabkum Your (m.pl) book’
h. kitabkan. Your (f.pl) book’

1. Kitabum. ‘Their (m) book’

j. kitabin " Their (f) book’

k. axuy. ‘My brother’

|, axuk. "Your(m.sg) brother

m. axuki [sic]. “Your(f.sg) brother
n. axuhu. ' He brother’

0. axuha. ‘Her brother’

p. axuna. ‘Our brother’

g. axukum Your (m.pl) brother
r. axukan. Your (f.pl) brother
s. axuhum. ‘Their (m) brother’
t. axuhin. ‘Their (f) brother’

Sub questions

Question Number : 96 Question Id : 1815209916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The suffix -na means
¢ D8y & o

Options :

Your
1. %

My
2. %

3o Our

Their

Question Number : 97 Question Id : 1815209917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The root word for ‘brother’
‘PSS GC'E e Do

Options :

Axuha

axu

Axuhi

AXUk

Question Number : 98 Question Id : 1815209918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Second person masculine plural suffix is
B O3 0358 HEDA DTVSITIN0 ADEY

Options :

-kum
1.v

Question Number : 99 Question Id : 1815209919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The suffixes -ik and -ki are used for :
15565 ;AP eN-ik «DOCS-ki N0 &HTTROTI BT OW.

Options :

First person masculine plural
[05E3 0558 HBOA 2TVSITIS0



Second person feminine singular
B0 558 RO DESTIN0
2.

Third person feminine plural
S00°C803 0358 R 2eT05IS0

3. %

Second person masculine plural

, B0 0358 HHA 28T0S59&0
. B

Question Number : 100 Question Id : 1815209920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What are the suffixes (allomorphs)occur after consonants
STENE ST 65 BT DS €1 (OIS F5 )e0 )W E3

Options :

-i, -u, -a
1. ¢
-y, -hu, -ha

-i, -hu, -a

-a, -u, -a



